This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 2 - Cumbernauld North

7,075

4

1,416

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Danish ASHRAF	Scottish National Party (SNP)	1,399
John COLE	Scottish Liberal Democrats	180
Gordon CURRIE	Scottish Conservative and Unionist	1,003
Tom FISHER	Scottish Labour Party	1,428
Donna KIDDIE	Scottish Labour Party	534
Alan MASTERTON	Scottish National Party (SNP)	2,157
Anne MCCROSSAN	Scottish Greens - Think Global Act Local	290
John Patrick MCGRORY	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	84
	Total	7,075

Candidate Tom FISHER Elected with 1,428 votes, being in excess of the quota of 1,416 Candidate Alan MASTERTON Elected with 2,157 votes, being in excess of the quota of 1,416

This report contains the transfers results.

Stage 2 - Surplus of Alan MASTERTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Danish ASHRAF	1,738	0.34353	597.05514
Transfer to John COLE	29	0.34353	9.96237
Transfer to Gordon CURRIE	23	0.34353	7.90119
Transfer to Donna KIDDIE	65	0.34353	22.32945
Transfer to Anne MCCROSSAN	171	0.34353	58.74363
Transfer to John Patrick MCGRORY	17	0.34353	5.84001
No further preference	114	0.34353	39.16242
Not transferred due to rounding			0.00579
	Total		741.00000

This report contains the transfers results.

Stage 3 - Surplus of Danish ASHRAF

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John COLE	72	0.29060	20.92320
Transfer to Gordon CURRIE	26	0.29060	7.55560
Transfer to Donna KIDDIE	202	0.29060	58.70120
Transfer to Anne MCCROSSAN	555	0.29060	161.28300
Transfer to John Patrick MCGRORY	26	0.29060	7.55560
Transfer to John COLE	75	0.09983	7.48725
Transfer to Gordon CURRIE	20	0.09983	1.99660
Transfer to Donna KIDDIE	205	0.09983	20.46515
Transfer to Anne MCCROSSAN	762	0.09983	76.07046
Transfer to John Patrick MCGRORY	37	0.09983	3.69371
No further preference	518	0.29060	150.53080
No further preference	639	0.09983	63.79137
Not transferred due to rounding			0.00120
	Total		580.05514

This report contains the transfers results.

Stage 4 - Surplus of Tom FISHER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Donna KIDDIE	1,199	0.00840	10.07160
No further preference	86	0.00840	0.72240
Not transferred due to rounding			0.00480
	Total		12.00000

This report contains the transfers results.

Stage 5 - Exclusion of John Patrick MCGRORY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John COLE	6	1.00000	6.00000
Transfer to Gordon CURRIE	14	1.00000	14.00000
Transfer to Donna KIDDIE	17	1.00000	17.00000
Transfer to Anne MCCROSSAN	14	1.00000	14.00000
Transfer to John COLE	1	0.34353	0.34353
Transfer to Donna KIDDIE	2	0.34353	0.68706
Transfer to Anne MCCROSSAN	3	0.34353	1.03059
Transfer to Donna KIDDIE	3	0.29060	0.87180
Transfer to Anne MCCROSSAN	4	0.29060	1.16240
Transfer to John COLE	2	0.09983	0.19966
Transfer to Donna KIDDIE	3	0.09983	0.29949
Transfer to Anne MCCROSSAN	12	0.09983	1.19796
Transfer to John COLE	3	0.00840	0.02520
Transfer to Gordon CURRIE	1	0.00840	0.00840
Transfer to Donna KIDDIE	2	0.00840	0.01680
Transfer to Anne MCCROSSAN	2	0.00840	0.01680
No further preference	33	1.00000	33.00000
No further preference	11	0.34353	3.77883
No further preference	19	0.29060	5.52140
No further preference	20	0.09983	1.99660
No further preference	1	0.00840	0.00840
Not transferred due to rounding			0.00000
	Total		101.16492

This report contains the transfers results.

Stage 6 - Exclusion of John COLE

225.26041

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon CURRIE	45	1.00000	45.00000
Transfer to Donna KIDDIE	48	1.00000	48.00000
Transfer to Anne MCCROSSAN	42	1.00000	42.00000
Transfer to Gordon CURRIE	5	0.34353	1.71765
Transfer to Donna KIDDIE	5	0.34353	1.71765
Transfer to Anne MCCROSSAN	7	0.34353	2.40471
Transfer to Gordon CURRIE	6	0.29060	1.74360
Transfer to Donna KIDDIE	12	0.29060	3.48720
Transfer to Anne MCCROSSAN	22	0.29060	6.39320
Transfer to Gordon CURRIE	5	0.09983	0.49915
Transfer to Donna KIDDIE	14	0.09983	1.39762
Transfer to Anne MCCROSSAN	24	0.09983	2.39592
Transfer to Gordon CURRIE	3	0.00840	0.02520
Transfer to Donna KIDDIE	19	0.00840	0.15960
Transfer to Anne MCCROSSAN	3	0.00840	0.02520
No further preference	51	1.00000	51.00000
No further preference	13	0.34353	4.46589
No further preference	32	0.29060	9.29920
No further preference	34	0.09983	3.39422
No further preference	16	0.00840	0.13440
Not transferred due to rounding			0.00000
	Total		225.26041

 $Report\ Name: Transfers_V0001_Ward-2---Cumbernauld-North_06052022_160801.pdf\ Created:\ 06-5-2022\ 16:08:01-1006062022-16:08-100606202-16:08-1006062002-16:08-100606202-16:08-100606202-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-100606062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-10060606-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-1006062-16:08-10060606-1006060-10060606-10060600-10060600-1006060-1006060-1006000-1006060-100600-1006000-1006000-100600-1006000-1006000-1006000-10$

This report contains the transfers results.

Stage 7 - Exclusion of Anne MCCROSSAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon CURRIE	26	1.00000	26.00000
Transfer to Donna KIDDIE	130	1.00000	130.00000
Transfer to Gordon CURRIE	10	0.34353	3.43530
Transfer to Donna KIDDIE	37	0.34353	12.71061
Transfer to Gordon CURRIE	8	0.29060	2.32480
Transfer to Donna KIDDIE	182	0.29060	52.88920
Transfer to Gordon CURRIE	9	0.09983	0.89847
Transfer to Donna KIDDIE	215	0.09983	21.46345
Transfer to Donna KIDDIE	11	0.00840	0.09240
No further preference	190	1.00000	190.00000
No further preference	134	0.34353	46.03302
No further preference	391	0.29060	113.62460
No further preference	574	0.09983	57.30242
No further preference	14	0.00840	0.11760
Not transferred due to rounding			0.00000
	Total		656.89187

This report contains the transfers results.

Stage 8 - Exclusion of Donna KIDDIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon CURRIE	216	1.00000	216.00000
Transfer to Gordon CURRIE	34	0.34353	11.68002
Transfer to Gordon CURRIE	186	0.29060	54.05160
Transfer to Gordon CURRIE	235	0.09983	23.46005
Transfer to Gordon CURRIE	357	0.00840	2.99880
No further preference	513	1.00000	513.00000
No further preference	75	0.34353	25.76475
No further preference	213	0.29060	61.89780
No further preference	202	0.09983	20.16566
No further preference	874	0.00840	7.34160
Not transferred due to rounding			0.00000
	Total		936.36028